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JIE 5z K 4 = 79k 4> AR JIE 15z K 4% T B 7Yr 42 AR ESL K 4% fr & 7Oh 42 AR EAL K 4% & 7Y 42 AR
1 hX EHE FEDEGC 37 38 75 51 @A & [LE#IZECC 42 45 87
2 BF RX EnEGC 37 40 77 52 HEX B& EEB5CC 40 47 87
3 ME =& J\FHce 41 37 78 53 & FX [LE7ECC 40 47 87
4 EE EB J\FHCC 40 38 78 54 BEH RE [LBfk{Ecce 46 42 88
5 W&k #Fx EDEGC 39 39 78 55 & ®EE LESZMOHZRGC 46 42 88
6 <# XA EnEGC 40 39 79 56 #EE —ER FEDEGC 44 44 88
7 AR R En&EGC 39 40 79 57 BHE %7 J\FHce 41 47 88
8 ZEMH HE& yN=1r.3(=(el¢ 40 40 80 58 #¥X 5hz fEDEGC 46 43 89
9 #H@E FIHA [LE{&{aCC 40 40 80 59 t3H &% =13 (={el¢ 46 43 89
10 IRt EE [LEHfIECC 43 38 81 60 X'T KBz J\FHce 45 44 89
11 WA Ei ILBH#IZECC 39 42 81 61 #ME #Eih LBH#ZECC 45 44 89
12 HE AR [LBH#IZECC 39 42 81 62 IO Bi# ZE@cC 44 45 89
13 R# # LBk face 39 42 81 63 i & FEDEGC 44 45 89
14 =% & REfIZECC 42 40 82 64 it 3 K&HECC 44 45 89
15 K& =gk yN=1r.3(=(el¢ 41 41 82 65 F#E &7 =13 (=1el¢ 44 45 89
16 M3 HER EmCC 40 42 82 66 FR TR J\FHce 41 48 89
17 o ®E =mIce 40 42 82 67 EEXR X [LB#IEECC 44 46 90
18 #HE & J\FHce 38 44 82 68 fBH E& LEEMO/GC 44 46 90
19 BAd EH J\FHce 44 39 83 69 BR E— J\FHce 43 47 90
20 B8 EEfR ZEREICC 43 40 83 70 XEX #&H— LB ZECC 47 44 91
21 BERM F J\FHCC 42 41 83 71 Am FHKHAEGC 46 45 91
22 e R [LB#IZECC 42 41 83 72 #Hil HERE BEECC 47 45 92
23 RHE —F yN=Tr 2 (=[ele 42 41 83 73 A EB IN=Ti:[ele} 47 45 92
24 FH KA J\FHce 42 41 83 74 WF E= LBkface 46 46 92
25 A &E LESZHMOHZRGC 41 42 83 75 il st LESZHOHZGC 46 46 92
26 B E—HB yN=Tr 2 (=[ele 41 42 83 76 H# & LEEMDOHGE 46 46 92
27 A B J\FHce 40 43 83 77 =HE FhA J\FHce 42 50 92
28 HEX ¥z yN=1r.3(=[e]e 40 43 83 78 #HE &= Z=mCC 49 45 94
29 #HE & ZE®ce 39 44 83 79 FEH X F®cCe 46 48 94
30 E& EZ- J\FHce 44 40 84 80 & IE#A [LB#IZECC 45 49 94
31 A A J\FHcCC 43 41 84 81 #AK &= FEDEGC 45 49 94
32 HFE W [LE{E{ACC 42 42 84 82 W BX [LEH#IZECC 49 46 95
33 & »— IN=T:i[elo 41 43 84 83 AR EBE— FHEGC 48 49 97
34 K# 2z fEDEGC 40 44 84 84 MR #= [LB#IZECC 49 49 98
35 M EH fEDEGC 42 43 85 85 | # LBkace 44 54 98
36 Bh3E #F /N =Ti:{ele; 41 44 85

37 AR Bz =m/ce 41 44 85

38 BX H IN=Ti:[ele} 40 45 85

39 B% &H Y= Tele 40 45 85 Ri% hNgk 23 J\FHce

40 ABRHE & [LE{E{ACC 44 42 86 KRiz A FH| IN=EFi[OF¢[e]

41 @F =88 [LE{E{aCC 42 44 86 xRiz Hep ED &

42 *H —I [LE{E{aCC 42 44 86 xRizEH & yN =13 (=[el¢

43 MR —H IN=Ti:[ele} 46 41 87

44 TF ®H= EDEGC 45 42 87

45 =R % J\FHCC 44 43 87

46 Rk BERE fEDEGe 44 43 87

47 R — LEEMOZEGC 44 43 87 3

48 BEER EA =mce 43 44 871 &

49 HE Wik [L&FECC 42 45 81 B

50 #% M EEBTECC 42 45 g7 @
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